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@ 9.0 ®a.0e
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@ V- V2- V5=-v2<0

2 V5—V2< 5

©4-V5-3-V6)=1-V5+ V6= V6-V5+1>0
4-V5>3-6

® Vo-V2-(V5-1)=-V2+1<0
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soab=5x20=100







olJ

ol
o8

dlig
Njo

oln




el

)

o] BmE galslt Aow & AL
V10 V2 2 V5 5
s 2% %95 93 ;
NB_ A5 S
ViV 5
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R 23 _ V23
D W= 100 10
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© V0.23 = TiialnT = 0.4796
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19. 1+\/_ V5 + V2, V2+ V3 & A2 AR vh2 A el

AU
L

D V2+V3< 1+ V2<V5+ V2
@ V2+ V3<Vh+V2<1+ 12
@ 14+ V2< Y5+ V2<V2+ V3
@1+\/§< V24 V3< V5 + V2
® Vb+V2< V24 V3<1+ V2

B

1+ vV2-(V2+V3)=1-V3<0
L1+ V2< V24 VB
V2+ V3- (V54 v2) = V8- V5 <0
2VZ+ VB< VB4 V2
THEFA 1+ V2 < V2+ V3< VB + V2 oItk
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Do @3 ® 7 @ 8 ® V2
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299-2 297 99

99 99 33

(AEZ 3)= V3

2 EAFZOR 2= =4 0|82 (4 9 AlFT)= +2 o|t}.
oA T V3 42+ (-2) = V3 oIt

2.99 =
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@o @ 2 ® 2a-2

@ 2a+2 ® -2a+2

0<a<l19B=24-1<0,1-a>0

V-a?-/la-12=1-a)-{-(a-1)}
=l-a+a-1=0
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50 Hoh 22 Algs 5 7t & 5 H AHHE FotH
49, 36, 25 ©] 1, o2 WL A5 x F AWNAR e
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V50 —x = V25

50 — x = 25
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27. /(V3-2) - \/(2- V) & Axrsm?

D 1-+v3 @ 5-3V3 ®)0
@ -5- 3 ® 5-3
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V3-2<0,2-+V3>00]22
1V3-2-12- V3| =-(V3-2) - (2- V3)

-V3+2-2+ 3
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30. VI2x VI5x V35 =aV7 & W a 9] ZHS F5HA?

@6 @ 15 @ 24 @30 ® 36

2V3x V3x Vb x VB x V7 =307




V225 - \/(—6)2+ \/(—3)2><24— \/5—2_(_\/3)2

=15-6+ /(3x2%)°~5-3
=9+12-8=13




32. a>09 W A= /(a2 + (-va)?+ Va® - Va® & u, VA 9
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® -3a @ -2a ® a @\/% ® V3a
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34.

oot T2 Al £=9] ti4 TAE K552 YERfH?
a=4,b=5-V2,c= V17

@ a<b<c @) <a<c @ c<a<b

@ b<c<a ® a<c<b

(Da=4

2) b 9] H9
—Vi<-V2<-1
5—Vi<5-vY2<5-+1
L 3<5-12<4
(3)c 9 Y

V16 < V17 < V25

L A4<A17<5

L b<a<c
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1.43
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1.48

1.48

1.49
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1.50

1,51

1,52
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1.53

1,53

5
2.0
2.1 11,44
2.2
2.3
2.4

1.54

1.55

1.55

1.55

1.56

1.56

® 5.93 @ 7.56

® 7.50

@7.40

® 6.19

V55 = V2.2%x 25 = 5v2.2 = 5 x 1.48 = 7.40




36.

V2= VB2 + /(2 + VB)? © A& 7heho] ohw?

O V5
@ 4

B

20 @25
® 2V5+4

VE>2o0|B22

V(@- V52 + /(2+ V52 =2+ V5 +2+ 5

=245




37. V40— x 9] gro] ATt H s Sl P 2L A x =2

1 @: ® 7 @ 10 ® 15

V36 0]B.& x — 40|},




38. VR - VI + /(097 - |/ & Aetee

@305 @315 ©® 32 @3.35 ©® 345

1
(FA)=3-03+09- 7 =335




39.

VI2-3V48 - V3+ V27T = AV3 & o, f2l5 A o] 327

V12 - 3V48 — V3 + V27
=2V3-12V3- V3+3+3
=843

wjabA] A = -8 o]t}
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® 3 @1+ 3 ® 2+ V3
@ 5 ® 2+2v3

1< V3<20]B2
“a=1,b=V3-1
“2a+b=2+V3-1=+V3+1
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® V2-2v3 @ V2+2V3
@vi+2v2  © V5-242
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® V3-2v2
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42, a=V3+3vV2, b=6V3-2V2 < W, 5a + 3b = 73| 5HA?

®9va+2V3 @ 9v2+22vE  (B)ovi+ 2343
@ 9v2+24V3 ® 9v2+25V3

ba+3b =5(V3+3V2) +3(6V3-2v2)
=5V3+15V2+18V3-6V2
=9v2+23V3
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45. 3<x<4 49, /B-x?%-/(x-4)

D 2x-1 @ 2x-3

@Y2x -7 ® 2x-9

3-x<0° x-4<00E2

(

=z
e

A)=-B-x)+(x-4)=2x-7




46. T% F V5 9F VIO Afololl gl Fel4?

@ V5-1 @ 25 ® V10 -2
@, \/EJ;«/E ® 4

V5 + V10
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-3 P -2 -1 0 1 Q 5
D-1-242 @ -1+2V2 ® 1-2v2
@ -1-2 ® -1+ V2

P(-1-v2), Q(v2) °|B2
a-b=-1-V2-v2=-1-2V2
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4229 ABCD 9] tiZtAl o] Aol v2
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49. U2 F F A5 g4 TAVE A 2 A2
D Vr-1>1 @ 5-vV5>5-6
® V2-1<43-1 @ VI8+2> Vi5+2
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=-V6+V5<0
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© V3-1 @ 2v3 ® VII-3
@ V3+3 @\/ﬁzx/ﬁ
V3+ Vi1
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